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$���� �� !"#  

��o�( Z4��( � �.� �.�'��� �� ��� ����� %5� � %�I�( ���� K�"4 ��314�X  

 )Mugil cephalus L. ( 

��� X��	 ��'�3��� ����
* g �$�� %�*�*8B  ����a �����( 
�-�( �>�	" –��c�c .����	 ���6>c   
 �6��� g�= X��� C�?��	�-B g
� $ �B&�' )�>� %�*�*8B  

L
�$ �2��	. �$�� %�*�*8B  ����a �����( 
�-�( �>�	" –��c�c .����	 ���6>c 

+��� ���.�.. �$�� %�*�*8B  ����a �����( 
�-�( �>�	" –��c�c .����	 ���6>c.   

6s���� ��4�%:� V�:$ g
��6$�� gL
��! g+$	�B ��� 
����3
  

	�%��  

X�	 ���c �� #�F" 	
	" �"�� 7�	�' [��2� �-. gL
��! ����*� "��� 
" ��	�� �2�	" ����� �.
"�	 %
	�� � 

�' g [��og �'
 

1�� g [��o #��?B ��	ke [��2� g 
�26!
	��� �F�� g ��/�	 L
��! %
�R� �>! �fF�$ �� �<�� g ���� �3�� ���� 
�0$ ���3�� �� 

�	�2� �/� �	 X���-� ���c 
�3 ���3�� ����
" �'
��! 
" ��	�� ��-. �� 
��' �� ��(.��F�B ���-. #P�� �	 
��( 

��! V�:$ 


��6$�� �	 25600 XB 
" V�� 1997 �� 147000 XB 
" V�� 2003 ����
 �$ ���� �(  )92 �P
" 
" V�� 2003  (����� �� 
� $ 

�R� �� �'�� )FAO,2012 .(�� �.�B �� �<�6�	� ���' X�	 ��2P �� 
	�= A�. 

�( ��' �	 ���?@ � A��2� �
 �� S3�$ �( �� �p� 

�� ��
 
���
�" ����B 
��( 

��! X�	 ���c "��8� �� �'�� .
" �R� X���c
�� 
� $ ��F�B ��22$ X�	 �3�� �-2B r� 
�f3 V��= 

l�Z� X�	 ���c �"�� �$ ��W�� �2; �P 
	�3 � <�	 �, ��F�B �� ����� .
" 
� $ ��F���	 ���� �3�� V�:$ 
��6$�� ��F�B ��' #P�� 

L
��! �f� ���3�� ��F�B ��' �	 
�f3 �� �'�� .���� 
�3 �$a ��' X�	 ���c 
	�� L
��! X�**8� )�>� �B&�' 
� $ 	
 �� �( 

�'	" �$ X�	 �3�� 	
 �� �	�2� r� ���c �'
��! 
" 
�-�( 
�' �>�	" �=���  �2����  )����, ��	�-B � �	
�/�3 g 1389 . (	kF �� �.�B 

�� L�
	  X�	 ���c 
	�� ����B 
��( 

��! 
" 
�-�( X���' g [F 
�' � 
�' � ��� �� ��8F �"��� ���nB ���� ���( �	 L
��! g 


����F�� � ��t/B �( 
" �*K2� ����	 ���6>c S3�4! 
�$k� �� H	�3	 g ��
�� �	��� �'
 
" +$	�B 
�3 i>�Z� g X���B l��' 
�3 

�'
 � L
��! X�	 ���c 
" 7�	�' 1( 
�' �*K2� �� ��c �	 ����	 ���6>c � X�2f�3 ��F�B �>c 
�3 �F�� X�	 ���c � ���nB #6� �(  

�� 	�.	 
" ���( ��	    .  

$��   
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" �2:�	 V��1387  "	��B �?��*B �" 
	�3 "�� �f� �3��  V�:$ 
��6$��)Mugil cephalus L. (�� X�<���� ��� 280 �>�� )�c � V�@ 

3/28 �>�� ��� �	 
� $ �R� X���B �'.

�' 1( �( X��W���� 25-15  ppt  
" ����� �� �'��.�	 
�-; �Z��	 �� ���6� ��6/�2500 

��� A��� �� b�� 5/1 ��� "�.�� 
" �$�� L���( 
�<�� �� ��c �"�:��	 ��"�c .
" V�� V�	 L
��! �f� ���3�� �� 
�-; �Z��	 �$�� 

r� )
�-; 

��/3 ��6/� � ��� � ����a 
��� ����"�c .+$	�B ����a 
��� 
" �" �Z��	 5000 "�� � 
" �" �Z��	 �<�" 10000 

"�� 
" 
��/3 "��.
" V�� )�" L
��! �� �.�B �� X�<���� ���� ���3�� "�.�� 
" �Z��	 �3 �$ #��' �" �>c �3�� �/� �� X�<���� ���� 

80 )�c  )���3�� L
��! ��=�� �� +$	�B 10000 "�� 
" 
��/3 (� 
�<�" �� X�<���� ���� 115 )�c  )���3�� +$	�B 5000 "�� 
" 
��/3(g 

"�� �� +$	�B 2000 � 2500 "�� 
" 
��/3 
" �Z��	 
�3 2500 ��� ����� ����a 
��� ���' ..�3"	ke �" 
�� 
" ��
  )���� 8 � 14 

 (�� �"�:��	 �	 � B 
�3 �/���&! %
�P �=�c .��k_B �f� ���3�� 
" V�� V�	 � )�" �� �"�:��	 �	 
	ke �����62$ ��RZ� ��k_B 


�0$ �F���� �"�� )2±23 �P
" X��B��! g)��2± 10 �P
" ���; g)�� "��� 7 �P
" �?�= g)�� 15 �P
" ��6$�� g2± 40 �P
" 

%	
��3���$ � 
E��	 �� lF��200± 4000 �>�$ 
�F�$ �� �>�$ )�c (g"�� %
�P �=�c .L
��! V�:$ 
��6$�� 
" V�� V�	 � )�" 


" [F�, s�@ ��>� 
�3 &��$ �="�RB �� 	�.	 
" ���( � 
	�� �6��*� X�<���� �3 �	 one way ANOVA  )α =0,05  (� Student’s 

T-Test )05/0 =α (�� �"�:��	 �	 )�� 
	�=	 SPSS �"�:��	 ��"�c .��>$ V�	�. � 
	"��� �3 �� )�� 
	�=	 MS-Excel ��-B ���'.  

�38�x  


" V�� V�	 �:3 ��� �! �	 gL
��! X�<���� V�@ � ��� ���3�� 
" +$	�B 5000  )�Z��	 
�3 �
��' 9 � 10 (�� 1/21 ����� ��� � 

7/113 )�c  � X�	 X�<���� 
	�� ���3�� �Z��	 
�3 �
��' 11 � 12  )+$	�B 
�3 10000 "�� 
" 
��/3 (6/19 ����� ��� � 6/86 )�c 

"
�(�� ��"�c.X�<���� �P
" ^�*� 
" V�� V�	 L
��! 
" �Z��	 �3 +$	�B� 
�3 "
�� S����( 77 �P
" "
�(�� ��"�c.X�<���� FCR 


" +$	�B 5000 � 10000 
" 
��/3 �� [�B�B 4/3 � 9/3  �"�� ��	 )V��. 
�3 1 �2 .(V�� )�" �! �	 "��� S' ��� L
��! 
" 

�Z��	 
�3 �$�� X�<���� ��� ���-� ���3�� 
" �Z��	 
�3 9  )��� ��F�	 115 )�c � +$	�B 2000 "�� (g 10  )��� ��F�	 80 )�c � 

+$	�B 2000 "�� (g 11  )��� ��F�	 115 )�c � +$	�B 2500 "�� (� 12  )��� ��F�	 80 )�c � +$	�B 2500 "�� (�� [�B�B �� 476,6 

g338,1 g 440� 327 )�c "
�(�� ��"�c  )V��. 5 .(  
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K�%< )1 :(�X�� .� �X�5 ��� %�I�( � $���� K�"4 ��314�X �� K�' K�� �� Z4��( ��� W�3q�  
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6�
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W��� 

3,2 130,49 116,3 413 81,6 1122 1375 5000 2500 9 1 

3,6 111,96 111,4 401 73,09 1005 1375 5000 2500 10 2 

3,6 197,50 87,7 705 81,89 2252 2750 10000 2500 11 3 

4,1 170,00 85,6 705 72,22 1986 2750 10000 2500 12 4 

K�%< )2:(�X�� .� �X�5 ��� %�I�( � $���� K�"4 ��314�X �� K�' i�� �� �������( W�3q�  

12 11 10 9 �
��' �Z��	 

700 700 550 550 "	��B ����a ��' )20/2/1389 ( 

685 680 486 490 "	��B �'	"�� ��'  )5/8/1389 ( 

66/24±327 90/69±440 53/32±1/338 64/73±6/476 X�<���� ���   ))�c( 

97.86 97.14 88.36 89.09 �P
" �c�������  

224 299.2 164.3 233.5 C����� 
��F�B  ))�c�>�$ ( 

691 765 634 745 

�	��� 
	ke �����62$ �=�R�  )
�>�$( 

3 2.5 3.8 3.2 FCR 

yE� � 38�	
H���  

�� �.�B �� D���� �>P�� �	 L
��! X�	 ���c 
" 
�-�( 
�' �*K2� �� ��c � ���  �� �.�B �� �3�?' }�� �'
 � L
��! 	�X ���c �� ���c 


�0$ F���� �g ���	�� 
" 	�'�7 �*K2� "
�� ��F�K� g V�� V�	 	
 	�� 
t/B�� � F�B�� �f� 3�� �� <�	 �,  )V�� ���� 
	�X ���c (
" 

�p� ��=�c �B �� �a��� ��� 
�f� 3����� C
��  �� +$	�B 5000 – 20000 "�� 
" 
��/3 g �f� 3�� �� <�	 �,  �� �2�	" ��� �30 – 150 

)�c F�B�� �"�$ � V�� )�" 	
  �� �	�2� V�� 
	��! �2� 
	�X ���c �� %
�P L
��! rB ���c 	 

" �-�( 
[F 
�' � 
�' �� +$	�B 

�a��� ��� 
1500 – 2500 "�� 
" 
��/3 	�� 
F�B�� 3����� 
	��� 
�� �2�	" ��� �500- 1000 )�c ��R��	 "	" .
" %
�P b*8B 	�X 

��	 � ��	�B ���	� ��(
" �F����	 lF�� #,	�� 850 
	�3 �B 3 ���>�� ����B �� 	�	 
�3 
��/3 	
 
�R�� "�� �$ 	�X ���	� 	
  � ��	�B 

�� �� 
��c
�$ L�
 
�3 ������� �2�-� � �	 ��3 ���-� ��F�B �f� �3�� 
" 
� $ � �� A?B �( S3�$ �2��3 ��-B �f� �3�� � �� 
��c
�/� 

+�E
 ��	ke ��-�  )	�; �$ 49-54,5 �P
" �2��3 
�3 ��F�B 	
 �2��3 �	
�� �� "�� ��R��	 �� g�3" S�	�=	 "	" .	kF �-. ����B 
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	���! � ��.�B 
��k! L
��! X�	 ���c �	 ��� g
"�R�,	 )�n�	 ��F��=  ��t/B ���2R� X�	 ���c 
" 
� $ 
" �� ��F�B ��?�	 
��	 1�2�.	 

��k!�� �"�� � 
" %
�P b*8B X�	 ��	 �*>� 
�3 
��( 

��! �( #��$ ""�<��.   

F'�>\ z�� �  

١- ����, g��	�-B ).g g���>� 
.g in�g
�! L.g g
���-� L.g g�?n�
 �.g g���:��� ).g g
��-� iF	.g ��8� g
�p� 
.1.g 

gr��@ y.g 
��
�� g)�*� s.g �� F g���,( j.
.g g��=�' y.5.g1389 .
����F��  � ��t/B ���2R� V�:$ 
��6$�� .%
	�� 

"�-. 
�
�� $ .�6��� %�*�*8B  %&�'  �	��	.102 �8:P.  

2-  FAO. 2012. The state of world fisheries and Aquaculture. Food and Agriculture organization of the United 

Nations, Rome, Italy. 2  

 

    


